KENDRIYA VIDYALAYA SANGATHAN, BENGALURU REGION

BLUE PRINT SESSION ENDING EXAMINATION (March 2022)
CLASS - VII SUBJECT: ENGLISH MAX.MARKS: 40
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SAMPLE QUESTION PAPER BLUE PRINT -TERM II :

KENDRIYA VIDYALAYA SANGATHAN — BENGALURU REGION

SESSION 2021-22

Class- VII Subject- Mathematics Marks: 40 Time- 2 Hours
FNC UBC CA PSA TOTAL

SNO Chapters VSA VSA VSA |SA LA VSA SA LA

1 Rational Numbers 1(2) 1(2) 1(1) 2(1) 7

2 Practical Geometry 2(1) 2

3 Perimeter and Area 1(1) 1(2) 1(1) 3(1) 7

4 Algebraic Expressions 1(1) 1(2) 3(1) 1(1) 7

5 Exponents and Powers 1(2) 1(2) 1(1) 2(1) 7

6 Symmetry 1(2) 1(1) 1(1) 2(1) 6

7 Visualising Solid Shapes 1(2) 1(1) 1(1) 4
Total 1(10) | 1(10) 13) | 2(2) 3(1) 1(3) 2(2) 3(1) | 40(32)




Design of Question Paper

Type of question | Marks per Total Number | Total Marks
question of questions
VSA 1 26 26
Short Answer 2 4 8
Long Answer 3 2 6
Total 32 40
SNO Chapter Total
1 Rational Numbers 7
2 Practical Geometry 2
3 Perimeter and Area 7
4 Algebraic Expressions 7
5 Exponents and Powers 7
6 Symmetry 6
7 Visualising Solid Shapes 4
Total 40




KENDRIYA VIDYALAYA SANGATHAN
BENGALURU REGION
SAMPLE PAPER-MARCH 2022

CLASS :- VI BLUE PRINT MAX MARKS:- 40

SUBJECT:- SCIENCE TIMING:- 90 min

NAME OF THE CHAPTER OBSERVATION | IDENTIFICATION | DISCOVERY OF APPLICATION AND SKILL TOTAL
AND AND FACTS (10) BASED QUESTION (40)
REPORTING CLASSIFICATION INCLUDING DRAWING AND
MCQ(10) (10) LABELING (10)

Chapter 9: Soil 1 VSA 1(1) - 2

Chapter 10: Respiration in 1 SA 2(1) - 3

Organisms

Chapter 11: Transportation in 1 VSA 1(1) - LA 4(1) 6

Animals and Plants

Chapter 12: Reproduction in Plants | 1(4) *Case - - SA 2(1) 6
Base Study

Chapter 13: Motion and Time VSA 1(1) SA 2(1) 3

Chapter 14: Electric Current and its | - - LA 4(1) SA 2(1) 6

effects

Chapter 15: Light - LA 4(1) - 4

Chapter 16: Water: A Precious 1 SA 2(1) VSA 1(1) - 4

Resource

Chapter 17: Forests: Our Lifeline 1 VSA 1(1) VSA 1(1) 3

Chapter 18: Wastewater Story 1 VSA 1(1) VSA 1(1) 3

TOTAL 10 10 10 10 40/40

Remarks: Marks are outside the bracket and number of questions is inside the bracket.
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MAX.MARKS:40

KENDRIYA VIDYALAYA SANGATHAN
BLUE PRINT FOR SAMPLE QUESTION
TERM-2
SUB: SOCIAL SCIENCE

CLASS:VII

SL/N | NAMEOF THE CHAPTER O-TYPE | VSA SA LA TOTAL

0

1 TRIBES NOMADS AND SETTLED 1(1) 1Q(1M)
COMMUNITIES

2 DEVOTIONAL PATH TO DIVINE 1(1) 1(4) 2Q(5M)

3 THE MAKING OE REGIONAL CULTURES 1(1) 1(2) 2Q(3M)

4 18TH CENTURY POLITICAL 1(1) 1(2) 2Q(3M)
FORMATIONS

5 NATURAL VEGETATION AND WILDLIFE | 2(1) 1(2) 3Q(4M)

6 HUMAN ENVIONMENT TROPICAL AND 1(1) 1(2) 2Q(3M)
SUB TROPICAL REGIONS

7 LIFE IN THE DESERTS 2(1) 1(2) 3Q(4M)

8 HUMAN ENVIONMENT- 1(1) 1(4MAP | 2Q(5M)
SETTLEMENTS, TRANSPORT )
&COMMUNICATION

9 UNDERSTANDING MEDIA 2(1) 2(1) 4Q(4M)

10 MARKET AROUND US 2(1) 2Q(2M)

11 A SHIRT IN THE MARKET 1(1) 1(2) 2Q(3M)

12 STRUGGLE FOR EQUALITY 2(1) 1(1) 3Q(3M)
TOTAL 10Q(10 | 10Q(10 | 6Q(12M | 2Q(8M) | 28Q(40

M) M) ) M)

* THE NUMBER WRITTEN OUTSIDE THE BRACKET INDICATES NUMBER OF QUESTIONS
* THE NUMBER WRITTEN INSIDE THE BRACKET INDICATES THE MARKS

OBJECTIVE TYPE(OBSERVATION AND REPORTING) 10 Q
VSA (DISCOVERY AND FACTS )=5Q
VSA(IDENTIFICATION&CLASSIFICATION)5Q
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KENDRIYA VIDYALAYA SANGATHAN
BENGALURU REGION

SAMPLE QUESTION PAPER -SET 1

TERM IISESSION 2021 - 2022

CLASS: VII
SUBJECT: ENGLISH
GENERAL INSTRUCTIONS:
v' Read the question paper carefully
v’ Attempt all questions
v" All questions must be answered in the answer paper
v

The question paper is divided into 3 sections:
Section A - Reading - 10 marks

Section B — Writing& Grammar-20marks
Section C -Literature -10 marks

MAX.MARKS: 40
TIME: 90 MTS

SECTION A: READING -10 MARKS

Q1. Look at the poster and answer the questions that follow:

NOVEL cf‘ﬁnomvmus
" (COVID-19)

—— Protect yourself and others!
Follow these Do's and Don'ts

Together we can fight Coronavirus

For further information :
ol at Mindatry of Health, Gowt, of afias 24X 7 coamrol 1ooms numbes
SOV L ZINT e

Fmall at noow20 1 S@xprmd com



(i) This poster is drafted to ...............
A. Protect yourself and others
B. Create awareness among people
C. To fight coronavirus together
D. All of the above

(i) What is ‘Novel Corona Virus?
A. Avirus

B. A disease

C. Adeadly weapon

D. None of the above

(iii) What is to be done in order to protect yourself from the virus?

A. Wear a mask to cover nose and mouth

B. Throw used tissues into closed bins after use
C. Practice frequent handwashing

D.A&C

(iv) This message is issued by

A. Ministry of Health and Family Welfare
B. Human resources organisation

C. World Health Organization

D. All the above

(v) Whatis the synonym of the word ‘frequently’?
A. Repeatedly

B. rarely

C. occasionally

D. seldom

(vi) What is the antonym of ‘well’?

A. strong

B. fine

C. unwell

D. fit

(vii) Complete the slogan given in the poster
“Helpusto............... you.

A. serve

B. lead

C. help

D. fight



(viii) What are the Don’ts we have to follow to protect ourselves from the virus?
A. Spit in public

B. Touch your eyes, nose, and mouth

C. Have close contact with someone if you are experiencing fever and cough

D. all of the above

(ix) Find out the word which means “to make a sudden blow of air from the
nose

and mouth in an explosive way”

A. Coughing

B. Sneezing

C. Breathing

D. Croaking

(x) COVID-19 is an abbreviation that stands for:
A. Co Virus deficiency of 2019

B. Coronavirus disease of 2019

C. Continuous virus disease of 2019

D. None of the above

SECTION B
WRITING

Q2.. Develop a story on the following outlines. Give a suitable
t|t|e.[5 M] / .‘»,‘.*v'» N \

Once a fox fell into a well - tried hard to come out — could not come out —
by chance a goat came — the goat was thirsty — looked into the well for
water —saw the fox — fox was clever — invited the goat to drink cool, sweet
water — goat was foolish — jumped into the well — fox jumped on its back
and came out — foolish goat realised her folly.




Q3. GRAMMAR

i.  Choose the correct word and fill in the blank.
a. Afaithful................. as a dog. [ companion, helper, partner]

ii. Fill in the blanks in the sentences below with the words given:[fire,
carbon, cause]

a. Gandhiji’s life was devoted to the............... of justice and fair play.

b. Diamond is nothing, but................. carbonin its purest form.

iii. Write the opposite of the underlined word
(a) You were required to keep all the doors open, not ...............

iv. Fill in the blanks using the words given below.
[across, past, along]

a. The horse went ............ the winning post and had to be stopped with difficulty.

b. The cat chased the mouse.................. the lawn.

v. Use should/must/ought to appropriately in the given sentences.

a. People who live in glass houses............ not throw stones.
b. You............ wipe your feet before coming into the house, especially during
the rains.

vi. Add -ly to the underlined word and rewrite the sentence using the new

word.
a. Itis obvious that the work has not been done in a proper way.
b. She recited the poem in a cheerful manner.

Q4. SPELLING

i.Give one word for the following phrase:
A loud unpleasant sound
a. valour b.screech  c. portable d. migrate

[1 MARK]

ii. Arrange the jumbled letters to form a meaningful word.[ 72 X 2=1 MARK]

(a) dehisg (b) reytsym
iii. Complete the word by filling in the blanks. [ %5 X 2=1 MARK]
(a) co _pe _it_on. (b)s_nt_et_c.



iv. Choose the correct word. [1 MARK]
(a) A hacker / hermitis a person who leads a very simple life and lives alone

v. ldentify the picture of the freedom fighter and write the name. [IMARK]

SECTION C- LITERATURE -10 Marks

Q5. Answer the following questions. [Any 5]

(i) What is strange about Mr. Nath’s Sundays?

(i) What do you understand by the flashpoint of a fuel?

(iii) Why did grandfather decide to transfer Timothy to the zoo?

(iv) Do you think that cricket owes its present popularity to television? Justify
your answer.

(v) What were the two things that the bear wasn’t allowed to do?

(vi) How did Tilloo find his way to the forbidden passage?

(vii) Why did Abbu Khan buy a young goat?

(viii) Why was Dad sure he wouldn’t fall?
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KENDRIYA VIDYALAYA SANGATHAN
BENGALURU REGION
SAMPLE QUESTION PAPER (SET 2)-TERM IlI; SESSION 2021-22
Class :VII Max. Marks:40
Subject: ENGLISH Time: 1 hr 30 mins

General Instructions
v Read the question paper carefully.
v Attempt all questions.
v All questions must be answered in the answer paper.
The question paper is divided into four sections.

Section A: Reading [10 Marks]
Section B: Writing &Grammar [20 Marks]
Section C: Literature [10 Marks]

Section A- Reading (10 Marks)

Q1. Read the given passage and answer the questions that follow:

Most of us nowadays carry the world in our pocket! It is amazing but true. A mobile
phone can connect us to the rest of the world within a second. Today, mothers do
not have to remain worried if their sons or daughters are late. Businessmen do not
have to queue up before a telephone booth to make an important call. Apart from
making calls and sending SMS, the mobile phone is used as a multipurpose gadget.
It is a calculator, time piece, calendar, voice recorder, media player, camera,
gaming device, net browser and what not.

Though mobile phone is a giant step of technological advancement, its abuses
cannot be overlooked. Talking or texting while driving may lead to accidents.
Students misuse this tool in various ways and give way to social pollution. The
invention of mobile phones is a great achievement and plays an important part in
our daily life. Its many aspects are beneficial but they have negative effects as well.
Its development brought convenience and advantages to the world.
Communication between people has become quite easy and very fast. We can keep
in contact with others from any place irrespective of whether one is on a bus, in a
street or in a meeting -by sending messages for less than the price of a call. Internet
can be accessed through mobiles and it is also used to click photos and shoot
videos. At the same time, parents can stay in touch with their children and it is also
handy during emergencies. Business deals can be done on a single call through cell
phone outside the office, in a park or in any shopping centre. This invention has
brought the world closer at the tip of one’s fingers.



(i) Mobile phones can be used to and for
(ii) People made calls from in earlier times.
(iii) How can mobile phones lead us to accidents?
(iv) has become easy and fast because of mobile phones.
(v)Besides calling, mention any two other uses of mobiles.
(vi) “mobile phone is like a world in our pockets ‘ means

(a) We can control the world with the mobile phone

(b) We can connect with everyone with the mobile phone

(c) We can access information about anything using a mobile phone
(vii)Find a word from the passage which means the same as- having many uses
(viii) The synonym of ‘advantageous’ as given in the passage is

(a) Use (b) convenience (c) beneficial
(ix) What causes social pollution?

(a) continuous use of mobile phones

(b) children misusing phones

(c) using phones in public places
(x) “the tip of one’s fingers’ in the given context means

(a) by pressing buttons

(b) by heart

(c) the end of one’s fingers

SECTION B

WRITING
Q 2. Write a letter to your brother who is staying in a hostel discussing the
‘Pleasures of Reading’ . You may use the following points in your letter.
[5M]

(i)Evergreen mode of relaxation (ii)Beneficial for all
(iii)increases awareness (iv) Brings desirable
behaviouralchanges (v) learn new words/ things

Q3. GRAMMAR [10M]

(i) | am mother’s little ( helper/companion)

(ii) Itis not difficult to see (across/through)your plan. Anyone

can see your motive
(iii) You__take a walk every morning. ( should/ ought to/must)

(iv)Add a prefix to the given word: courage



(v) He made the statement ( Use the adverb form of : firm)
(vi) We were not allowed to cross the frontier. So we drove (past/

along) it as far as we could and came back happy.
(vii) Run four kilometres a day to preserve your health. Run a lot more to

it.( Use the antonym of the highlighted word to fill the blank)
(catch) fire.( Use the simple

(viii) We heat wood before it
present tense of the verb given in brackets)

(ix) Add a suitable suffix for the word: weak
( partner/helper).

(x) His tennis
Q4. SPELLING [5M]
(i)Rearrange to form a meaningful word

CLBIECY

(ii)Rearrange to form a meaningful word
URPRIESS

(iii) Choose the correct spelling

a)Suspance
b)Suspanca
c)Suspens

d)Suspense

(iv) Choose the correct spelling
(a) amatcher
(b) amateur
(c) amatuer
(d) amature

(v) Complete the word
(@)ac__m_li e

SECTION-C (LITERATURE)
(2x5=10)

Q5. Answer any 5 of the following in about 40 words each



Vi.
Vii.

Describe Mr. Nath’s Sunday visitor. Who does Maya think he is?

What is the flash-point of a fuel?

Mention any 4 meadow surprises that one will find if he looks and listens
well.

Why did Grandfather want Timothy to be put in another cage?

Why did Tilloo’s father advise him not to try to reach the surface of the
planet?

Why were the Parsis the first Indian community to take to cricket?

How does an electric fan happen to throw so much air when it is switched
on?
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KENDRIYA VIDYALAYA SANGATHAN
BENGALURU REGION
SAMPLE QUESTION PAPER(SET 3) -TERM II: SESSION 2021-22
CLASS: VI MAX.MARKS-40
SUBJECT: ENGLISH TIME: 90 MTS
GENERAL INSTRUCTIONS

- Read the questions carefully

- Attempt all the questions

- All questions must be answered in the answer paper
- The question paper is divided into three sections

Section A- Reading — 10 Marks
Section B- Writing and Grammar- 20 Marks
Section C- Literature- 10 Marks

SECTION A: READING -10 MARKS
Q.1 Read the passage given below 10 marks
THE PEBBLES

1.Many years ago, in a small village, lived a poor farmer with his daughter. He had
borrowed a large sum of money from a village moneylender and couldn’t repay it.
The moneylender, who was old and cunning wanted to marry the farmer’s
beautiful daughter. So he proposed a bargain. He said he would forgo the
farmer’s loan if he could marry his daughter. Both the farmer and his daughter
were horrified by the moneylender’s wicked idea and refused to agree on it. The
cunning moneylender put forward another proposal. He told them that he would



put a black pebble and a white pebble into an empty bag. Then the girl would
have to pick one pebble from the bag. If she picked the black pebble, she would
become his wife and her father’s debt would be forgiven. If she picked the white
pebble she need not marry him and her father’s debt would still be forgiven. But
if she refused to pick a pebble, her father would be thrown into jail.

2.As they talked, the moneylender bent over to pick up two pebbles. As he picked
them up, the sharp —eyed girl noticed that he had picked up two black pebbles
and put them into the money bag. The moneylender then asked the girl to pick a
pebble from the money bag. Well, here is what she did...

3.The girl put her hand into the bag and drew out a pebble. Without looking at it ,
she fumbled and let it fall on to the pebble strewn path, where it immediately
became lost among all the other pebbles.”Oh, how clumsy of me,” she said. “But
never mind, If you look into the money bag for the one that is left, you will be
able to tell which pebble | picked.” Since the remaining pebble was black, the
moneylender dared not admit his dishonesty and accepted that the girl had
picked the white pebble. Thus the girl through her intelligence had changed what
seemed an impossible situation into an extremely advantageous one.

1.1. Based on the reading of the above passage, complete the sentences given
below . 1X6=6 marks

i. The poorfarmer’s worry was that he had

ii. The bargain suggested by the moneylender was --.

iii. Suppose the girl picked up the white pebble

iv. The sharp-eyed girl noticed that the

v. The girl showed her intelligence by

vi. The word in the last sentence that describes the girl is -




1.2 Pick out words from the passage that mean the same as 1x4= 4 marks
i. agreement (para 1)
ii. asmall smooth stone ( para 1)
iii. observed ( para2)
iv. to handle something carelessly ( para 3)
SECTION B- WRITING AND GRAMMAR- 20 MARKS
Q.2 WRITING 5 Marks

Read the outline given below. Based on the given outline, complete the
storyby using appropriate words.

small boy eager to show intelligence. One morning
decided to play a trick on the barber went sat in
the chair barber asked Johnny said shave my beard
saw through the game surely do a piece of cloth around
applied soap got busy other work. Johnny waited
difficult, shouted at barber, barber smiled

replied waiting for beard to grow.

Q.3 GRAMMAR 10 MARKS

Fill in the blanks by choosing the right option given within brackets.
1x10=10marks

i. IfRaina had of her father, she wouldn’t have been disappointed.

( taken finger tips, taken the tip)

ii. Sheela asked her friend to find a good ------------ for her son. (partner,
accomplice)
iii. Have you insured your building against ? (carbon, fire)



iv. The police chased the thief the main road. (along, past)

v. People ------------- segregate and dispose the garbage suitably. (might, should)

vi.His voice is beginning to break. (choose the right meaning- too sad to speak/
changing as he grows up)

vii. He does read books/ He do read books.( Pick out the correct sentence)

viii.  You are required to talk less, not ------------ ( much,more)
ix. Smoking is said to be the main------------ of heart disease. (cause, effect)
X) It was exciting when the train moved the tunnel. (across/ through)
Q.4. SPELLING 5 MARKS

Do as Directed
i. reptocmu ( rearrange the letters to form a meaningful word)
ii. en----h (add suitable letters to complete the word)

iii. Life history of a person written by that person------------ (Biography,
Autobiography)

iv. Please give me a------------- of paper. (peace, piece)
v. wheather, weather, whether ( pick out the word that is spelt wrongly)
SECTION C- LITERATURE-10 MARKS
Q.5. Answer the questions given below in 20-30 words (any five) 5x2=10 marks
i. What two things did Maya and Nishad’s mother tell about Mr.Nath?
ii. What happens to the volunteer who swallows four drops of the new invention?

iii.Describe the Cat and Dad situation in the beginning and at the end of the
poem.

iv. Give two examples to show that fire is a good servant.



v. Name the different types of houses we find in meadows.
vi. How is cricket different from other team games?
vii.  Why did the customer leave the doves free into the air after buying them?

viii. What made the grandfather decide to transfer Timothy to the zoo?
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KENDRIYA VIDYALAYA SANGATHAN
BENGALURU REGION
SAMPLE QUESTION PAPER — TERM II: SESSION 2021-22

Class: VII Max.Marks: 40
Subject: Mathematics SET 1 Time: 2 Hrs

General instructions.

1. This question paper consists of 4 sections .

2. Section A and B consists of Very Short Answer questions of 1 mark each.
3. Section Cand D consists of 1 mark, 2 mark and 3 marks questions.

4. Internal choice is given in 1 question of 2 mark and 1 question of 3 marks .

SECTION-A

1. The rational number representing point P on the number line is

P
«t f———+—+ + —>
-2 -1 0 1 2
a) 0/4 b) % c) -3/4 d)-3
. —3).
2. The reciprocal of < is
a)3/5 b) 5/3 c)-5/3 d)1
3. The area of circle with radius 7cm is
a) 164 cm? b) 184 cm? c)154cm? d) 44 cm?
4. The coefficient of x in 3xy? is
a) 1 b) 3 c)y? d) 3y?
5. The exponential formofbxbxbxbxb is
a) 5b? b) b* c) b’ d) b°
6. 25° isequalto
a)l b) 25 c)2 d)o

7. The number of lines of symmetry in a rectangle is



a)l b) 2 c)3 d) 4

8. The plane figure that has infinite lines of symmetry is
a) circle b) square c) triangle  d) kite

9. @ Q represents the net of

a) cube b) cuboid  c¢)cylinder  d) cone

10. The number of vertices a square pyramid has is
a)4 b) 5 c)6 d)7

SECTION - B

., —8 . .
11. Rewrite — in the simplest form.

. . : 15
12. Find two equivalent fractions of ’y

13. Find the area of the given triangle below:

I
|21

b

I 30 /

14.Find the area of a parallelogram whose base is 7cm and height is 5¢cm.
15. Write the algebraic expression for ‘three added to twice of t’

16. Find the value of 3a® + a, fora = (-1)

17. Find the value of (4° +5°+6°)

18. Simplify 53 X 5*

19.Write the order of rotational symmetry for the given figure



20. What shape do we get with a horizontal cross section of an ice cream
cone shown below:

SECTION-C
21. Write two rational numbers between -1 and 1
22. Find the circumference of the circle whose radius is 7cm.

23. Find the value of 3°

1,1 7 1
24.Solve: a) 2=X- b) — + —
35 8 2
25. Express 144 as the product of powers of prime factors.

26. i) Subtract (- m?+5mn) from (4m?—3mn + 8)

i) Add (x2—-vy2-1), (y’=1-x?),and (1-x%>-y?)
OR
If a=2 b=-2 find the values of the following :
i) a2 +b? ii)aZ + ab +b? iii) a% - b?



SECTION-D
27.Simplify by combining the like terms : p +(p - g)- g + (g - p)

28.Draw a figure with no line of symmetry

29.A bulb is kept burning just right above the following solids. Name the
shape of the shadows obtained.

o
TN
//“\\‘

Aball

30. Construct an equilateral triangle whose side is 5cm using ruler and
compass .
OR
Construct a triangle PQR with PQ=3cm, QR=5.5cm and LPQR =60°
using ruler and compass .

31.Name two quadrilaterals which have both line and rotational symmetry
of order more than 1.



32. In arectangular land there is a flower bed of radius 3m in the centre.
i) Find the area of the whole land
ii) Find the area of the flower bed
iii) Find the area of the land excluding the area of the flower
bed.
Note- uset =3.14

8m

20m

LAV L VT VT VT N VT N T VT VT VT VT VT VT N T VT N T VT VT VTN o VT VT VT VT N T VT S T VT T VT VT VT VT N L VT N T VT N T VT VT VT VT N L VT N T VT VT VT ST VT VT, VT VT VT VT N T VT ST VT VT VT VT, VTV



KENDRIYA VIDYALAYA SANGATHAN
BENGALURU REGION
SAMPLE QUESTION PAPER TERM Il SESSION 2021-22

CLASS: VI SET 2 SUB: MATHS

MAX. MARKS: 40 TIME: 2 HOURS

w N

o v &

7.
8.
9.

General Instructions:

1. This question paper consists of 4 sections.

2. Section A and B consist of Very Short Answer questions of 1 mark
each.

3. Section C and D consist of 1 mark, 2 marks and 3 marks questions.

4. Internal choice is given in one question of 2 marks and one question
of 3 marks.

SECTION A

. . 24
The simplest form of rational number o IS —

The decimal value of m for all practical purpose is

The coefficient of x in algebraic expression 4x>-3x+7is
The value of i—z is
The angle of rotation of an equilateral triangle is

How many rational numbers can be written between two given rational
numbers?

How many sq cm are there in 1m??

Write a monomial with the power of the variable 5.

Write a like term to 3x%y.

10.Write the number of faces a square pyramid has.

SECTION B

11.The reciprocal of -5 is,

a) 5
b) -1
c) -5
d) —



12.The area of a parallelogram whose base is 6cm and altitude is 7cm is,
a) 42cm?
b) 21cm
c) 41cm?
d) 63cm?
13. The adjoining figure represents the net of a..
a) Cylinder
b) cuboid
c) cone
d) square pyramid
14.The exponential form of 64 with base 2 is,
a) 23
b) 2°
c) 2°
d) 2’
15.What is the numerical coefficient of 12x%y in 12x%y-5xy??
a) -5
b) 12
) -12
d) 5
16. The order of rotational symmetry of a parallelogram is,
a) 0
b) 1

)
)

(@)

2
3

o

17. Write the expression: Raju’s father’s age is 5 years more than 3 times
Raju’s age.
a) 3x+5
b) 5-3x
c) 3x-5
d) 15x
18.Simplified form of (3°+4°+5°)° s,
a) 0
b) 1

) 2
) 3

o O



19. 7 steps to the left of 4 on the number line gives,

a) 3
b) 11
c) -3
d) -11
20. The number of vertices in a rectangular pyramid is,
a) 5
b) 6
c) 7
d) 8
SECTION C
21.Find the value of
4 5
5 (=2)
22.Which of the following is greater? Justify your answer.
3% or 43

23.Name the type of triangle that has more than 1 line of symmetry and
rotational symmetry of order more than 1.

24. Construct a triangle ABC in which AB=7cm, BC=6cm and £B = 60°

25.1dentify the order of rotation of the following objects.

- . - s

X

1 (1)
26.From the sum of 3x —y + 11 and —y — 11, subtract 3x —y — 11.
OR

From the sum of 2y? + 3yz, —y? — yz — z?and yz + 22?2 subtract the
sum of 3y? — z% and —y? + yz + z*

SECTIOND

27.The perimeter of a rectangle is 130 cm. If the breadth of the rectangle is
30 cm, find its length. Also find the area of the rectangle.



28.ldentify the 2 terms from the following monomials that are like terms
of 10pq:
10pq, 7p, 89, — p%q 2, — 7qp, — 100q, — 23, 12q *p 2, — 5p 2, 41, 24p, 78qp,
13p 2q, gp?, 701p 2

29.Two dice are placed side by side as shown: what is the total of dots on
the face opposite to (a) 5+ 6 (b) 4 + 3.

30.The points P, Q, R, S, T, U, A and B on the number line are such that, TR =
RS = SU and AP = PQ = QB. Name the rational numbers represented by P,
Q, RandS.

M

USRT

APQB
—I4 —3 2 I { é Il Zir
31.Simplify and express the answer in exponential form:

23X 3%X 4
3X32

32.A garden is 90 m long and 75 m broad. A path 5 m wide is to be built
outside and around it. Find the area of the path.
OR
From a circular card sheet of radius 14cm, two circles of radius 3.5cm

and a rectangle of length 3cm and breadth 1cm are removed. Find the
area of the remaining sheet.

3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k %k 3k 3k 3k 3k 3%k >k >k 3k 3k 3k 3k 3k 3k >k 3k 3k %k >k >k 3k 3k 3k >k %k 3k 3k 3k 3%k >k %k >k %k >k *k %

W



KENDRIYA VIDYALAYA SANGATHAN
BENGALURU REGION
SAMPLE QUESTION PAPER TERM Il SESSION 2021-22
CLASS: VII SET 3 MAX. MARKS: 40
SUB: MATHEMATICS TIME: 2 HOURS

General Instructions:

1. This question paper consists of 4 sections.

2. Section A and B consist of Very Short Answer questions of 1 mark each.

3. Section C and D consist of 1 mark, 2 marks and 3 marks questions.

4. Internal choice is given in one question of 2 marks and one question of 3 marks

SECTION A

. The multiplicative inverse of -2/3 is ------ '

. The standard form of 40, 00,000 is given by-------- .

. Subtracting 7xy from 4xy, the result obtained is -------- .
. The order of rotation of an equilateral triangle is -------- .

15, ,
- N its standard form is ----------- )

. The ratio of circumference to diameter is a constant value. What is the constant called?

1

2

3

4

5. The number of vertices in a cuboid is ------- .

6

7

8. Write the algebraic expression: 14 less than 3 times x.
9

. Find the circumference of a circle of radius 5cm. Use m=3.14
10.Write as exponent: 23 x2”

SECTION B

. . -6 .
11.The equivalent rational number for < IS,

-3 12 -12 5
Fs b) )T d)7
12.Reduce to standard form -35/40.
7 -7 -3 -14
a3 b) 5 Sy d 4
13.The formula to find height in area of triangle is,
a)Zxarea b) 2xbase C) base d) area
base area 2xarea 2xbase

14.If the area of a circle is 44cm? the area of quarter of the circle will be,

1



a)llem? b)22cm?  ¢)33cm? d) 44cm?

15.Factors of 15x*> are,
a) 5, x? b)3,5,%x,x ¢)3,5xy d)15,y,x
16.The value of the expression 4x-3 if x=2 is,

a)4 b) 6 c)5 d)7
17.(-1)%°=
a)-1 b) 20 c)l d) 40
18.Value of ;—zis given by
a)7 b) 1/7 c) 14 d) 2/3
19.An isosceles triangle has ---- number of line (s ) of symmetry.
a)3 b) 2 c)l d) no lines of symmetry.
20.The number of edges a rectangular pyramid has is,
a)5 b) 6 c)7 d) 8.
SECTION C

21.Satpal walks % km from a place P, towards east and then from there

1; km towards west. At what distance will he be from P now?
22. 3?x3%x38=?
23.Write the number of lines of symmetry for a semi circle .
24.Complete the table

Name of plane fig Order of rotation Angle of rotation

Rectangle

square

25.Construct a AABC with AB=5cm, BC= 6cm and AC= 5.5cm.
OR

Construct a APQR with PQ=4.5cm, QR=5cm and £Q=909.
26. From the sum of 2y?+ 3yz and yz + 27%, subtract the sumof 3y?—z2and -y % +yz +z 2.

SECTION D

27.1f a=2, b=-2, find the value of: 2a% +b*+ 1
2



28.A gardener wants to fence a circular garden of diameter 21m. Find the length of the

rope he needs to purchase, if he makes 1 round of fence.

29. Write the name of the solid formed by the net given below:

) ) -3 -1
30. Write 3 rational numbers between - and 5

OR
Write three rational numbers between -2 and -3.

31.((5%)3 X 5%) = 57
32. A rectangular park is 45 m long and 30 m wide. A path 2.5 m wide is constructed
outside the park. Find the area of the path.
OR
A 3 m wide path runs outside and around a rectangular park of length 125m and

breadth 65m.Find the area of the path.

3k 3k 3k 3k 3k 3k ok >k 3k 3k >k 3k %k 3k %k >k 3k 3k 3k 3k 5k >k 3k 3k >k 3k >k 3k >k >k 3k 3k 5k >k 5k >k 3k 3k >k 3k %k 3k >k >k 3k %k 3k %k 3k 3%k %k >k >k 3k %k %k >k k %k






KENDRIYA VIDYALAYA SANGATHAN
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SAMPLE PAPER — MARCH 2022

Class: VII Max. Marks: 50

SUB: SCIENCE Time: 2 hours

General Instructions:

1. This question paper comprises four sections A, B, C and D. There are
32 questions in the question paper. All questions are compulsory.

2. Section—A - question no. 1 to 10 are multiple choice questions
(MCQs) carrying 1 mark each.

3. Section—-B - question no. 11 to 20 are very short answer type
guestions, carrying 1 mark each. Answers to these questions should
in the range of one word or one sentence.

4. Section—C - question no. 21 to 29 are short answer type questions,
carrying 2 marks each. Answers to these questions should in the
range of 30 to 50 words.

5.  Section—D — question no. - 30 to 32 are long answer type questions
carrying 4 marks each.

6. The Question paper is of 50 marks which will be reduced to 40 marks
weightage on evaluation.

SECTION A
S No. Choose the correct options Marks
1 In which horizon of soil are minerals found? 1
(a) A
(b) B
(c) C
(d) Bedrock

pg. 1




During the process of exhalation, the ribs move
(a) down and inwards

(b) up and inwards

(c) down and outwards

(d) up and outward

Blood platelets help in

(a) Transport of oxygen
(b) Fight against germs

(c) clotting of blood

(d) Transport of hormones

Which day of the year is celebrated as Water Day?
(a) 26 January

(b) 15 January

(c) 15 August

(d) 22 March

Roof of the forest made by the branches of the tall trees is called
(a) crown

(b) canopy

(c) understorey
(d) none of these

Which of the following is a part of inorganic impurities of the sewage?
(a) Pesticides

(b) Urea

(c) Phosphates

(d) Vegetable waste

Q No 7-10 are CCT based Qs. Read the content carefully and answer the
given Qs

In plants there are two modes of reproduction, asexual and sexual.
Though asexual reproduction is faster and more energy efficient, sexual
reproduction better promotes genetic diversity. There are several
methods of asexual reproduction such as fragmentation, budding, spore
formation and vegetative propagation. Sexual reproduction involves the
fusion of male and female gametes.

The ‘eye of the potato plant is what
(a) the root is to any plant

pg. 2




(b) the bud is to a flower
(c) the bud is to Bryophyllum leaf
(d) the anther is to stamen

8 Aman observed that a pond with clear water was covered up with green
algae within a week. By which method of reproduction did the algae
spread so rapidly?

(a) Budding

(b) Sexual reproduction

(c) Fragmentation

(d) spore formation

9 Which of the following constitutes a Pistil?

a) Stigma, Style and anther
b) Stigma, Style and ovary
c) Stigma, Stamen and ovary
d) Style, anther and ovule

10 In yeast reproduction occurs by
(a) fragmentation
(b) binary fission
(c) budding
(d) spore formation

SECTION B

11 Aditi observes two types of soil. She finds that soil A has small particles
while soil B has large particles. When water is poured in soil A it remains
in it for a long time while in soil B it passes through faster. Identify soil
A & soil B.

12 The blood vessels in our body which carry Oxygenated blood are called

13 What type of motion is seen in the following cases:-

a) Pedal of a bicycle in motion
b) Motion of the strings of a guitar

pg. 3




14 Discuss any two ways by which you can minimize the use of water to
maintain your garden.

15 How do microorganisms play an important role in the forest?

16 How do trees prevent soil erosion?

17 Give one example of a food chain.

18 A chemical used for purification of water is

19 Solid waste extracted in wastewater treatment plant is called

20 Why should cooking oil not be thrown down the drain?

SECTION C

21 If it takes 30 minutes for 250 mL of water to percolate through a soil
sample. What would be its percolation rate?

22 Name the respiratory organs in
a) cockroach b) Earthworm

23 Why do we get muscle cramps after heavy exercise? What should we do
to get relief from it?

24 Draw a neat diagram of stamen and label any two parts.

25 The following distance -time graph represents the motion of Mohan’s

car from his office to home. Observe the graph carefully and answer the
guestions given below

pg. 4
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a) ldentify the type of motion of the car from the given options

i) non uniform motion ii) periodic motion iii) uniform motion
iv) at rest
b) What is the distance travelled in the last 30 minutes?

26 If a pendulum takes 35 seconds to complete 20 oscillations what would
be its time period?

27 Show how you will connect the following components in an electric
circuit with the help of a circuit diagram: a) a 3 cell battery b) a closed
switch c) a bulb d) connecting wires

28 Rahul observes his image formed by a plane mirror. Discuss any two
characteristics which he is likely to observe?

29 Identify any two factors responsible for depletion of water table
SECTION D
30 Draw a neat labeled diagram of the human Excretory system and label

any four parts.

pg. 5




31

- (A) (B)

a) ldentify A & B.
b) Which of them would be used by i) A Dentist ii) A driver as his rear
view mirror. Give reasons in each case.

32 a) Draw the diagram of an electric bell and label any two parts.
b) On what principle does it work?

pg. 6
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General Instructions:

1. The question paper comprises four sections A, B, Cand D. There are 32
questions in the question paper. All questions are compulsory.

2. Section A- Question no 1 to 10 are multiple choice questions, carrying
1 mark each.

3. Section B- Question 11 to 20 are very short answer type questions,
carrying 1 mark each. Answers to these questions should be in the
range of one word or one sentence.

4. Section C- Question no 21 to 29 are short answer type questions,
carrying 2 marks each. Answer to these questions should be in the
range of 30 to 50 words.

5. Section D- Question no.30 to 32 are long answer type questions,
carrying 4 marks each.

6. The Question paper is of 50 marks which will be reduced to 40 marks
weightage on evaluation.

Section -A

1 | Inthe given diagram the part labelled 1 is 1

Layers of soil

a) A horizon b) B horizon c) C horizon d) D horizon

2 | During inhalation, the diaphragm moves 1
a) Move down b) Move up
c) Do not moves at all  d) Move outwards

3 What is the pulse rate of a resting person? 1




a)72to80 b)80to85 «¢)75to85 d)60to 70

If the ground water stored between the layer of hard rock below
the water table it is called as
a) Infiltration b) Aquifer ¢) Ground water d) Water table

The branchy parts of the tree above the stem are known as
a) Crown b) Canopy c) Understory  d) None of these

The sludge is treated in a waste water treatment plant by
a) Chlorination b) Anaerobic bacteria c) Filtration d) Aeration

Question No. 7 to 10 are CCT based questions, on the content
given below.

Read and observe the following paragraph and the diagram and
answer the questions from Q no.7 to 10

Role of Insect Pollinators in Crop Production

A pollinator is an animal that moves pollen from the male anther
of a flower to the female stigma of a flower. This helps to bring
about fertilization of the ovules in the flower by the male gametes
from the pollen grains. Approximately, 80 percent of all flowering
plants species are pollinated by animals, including vertebrates and
mammals but the main pollinators are insects. Pollinators are
responsible for providing with a wide variety of orchard,
agricultural crops, horticultural crops and forage production. More
than three quarters of the world’s food crops rely at least on
some parts on pollination by insects and other animals.

Why do flowers are generally colorful and fragrant?
a) For seed dispersion b) for attracting the insects for
pollination c) None of these

What is the role of a pollinator?
a) For the production Variety crops b) For seed dispersion
c) For protection

!

/
! VA Wi $

| |

Identify the type of Pollination.




a) Cross pollination b) Self-pollination c) Seed dispersion

10

Geeta planted Papaya plants in her garden. But the tree did not
bear any papaya fruits. What do you think is the reason?
i)Pollination not occurred ii) May be a male plant iii) None of
these
a) Onlyi b)Onlyii c)Both iandii

11

Identify the soil which has the same amount of large and fine
particles of sand and gravels are present

12

Name the blood vessel which has thick and elastic wall.

13

Name the group of microorganisms which recycle the dead plants
and animals into humus.

14

Which are the two microorganisms that cause Cholera and
Typhoid?

15

Name the inorganic nutrients found in the Sewage water.

16

Observe the graph given below.
What do the graph indicates and why?

Distance —»

Time —»

17

Mention any one causes of acute water shortage in many parts of
India.

18

Forest is called the green lungs. Give reason

19

Why there is a need of variety of animals and plants in a forest.

20

Give reason: Air is pumped to the clarified water.

Section B

21

Why do we get muscle cramps after heavy exercise?
Classify the process into Aerobic or Anaerobic respiration.

22

o

T |B T
a) In which of the given graph, the speed of the body is zero?
b) The shape of the distance -time graph™ B

shows a curve shape. What does it indicate?

23

Name the water harvesting technique practiced in olden days.
How does a farmer can use the water economically?

24

[llustrate an activity to show the moisture content in the soil.




25 | How will you prove that exhaled air has Carbon dioxide?

26 | Give reason:

a) concave mirrors are used by the dentist to observe the teeth.
b) convex mirrors are used as side mirrors in vehicle.

27 | Draw a neat and labelled diagram of reproduction in Yeast by
budding.

28 | Atrain ‘A’ travelled a distance of 150 kms in 3 hours, whereas,
train ‘B travelled a distance of 180 kms in 4 hours. Which train
travelled faster?

29 | Mention any two uses of Electromagnet

Section C

30 | One student performed the activity to form image of a sun on
paper, and observed that the paper was burning.

a) Which lens he would have used in experiment?

b) Why does paper started to burn?

c) Why does the word AMBULANCE is written inverted on
ambulance vans?

d) Name any natural phenomenon showing dispersion or
splitting of white rays to seven different colors and mention
the different colors.

31 a) Name the scientist who was first discovered the Magnetic

effect of electric current.

b) Explain the working of an electric Bell.

32 a) Draw a neat diagram of Human Respiratory system and

label any two parts.
b) Name the respiratory organs of 1) Cockroach 2) Earth worm
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General Instructions:-

This question paper comprises four sections A, B, C, D. There are 32questions
in the question paper. All questions are compulsory.

Section- A- Question no. 1 to 10 are multiple choice questions, carrying 1 mark
each.

Section- B - Question no. 11 to 20 are very short answer type questions,
carrying 1 mark each. Answers to these questions should be in the range of
one word or one sentence.

Section- C - Question no 21 to 29 are short answer type questions, carrying
2marks each. Answers to these questions should be in the range of 30 to 50
words

Section- D- Question no 30 to 32 are long answer type questions, carrying
4marks each.

S.NO. QUESTION MARKS
SECTION-A
1 While digging a field, a farmer noticed earthworms, beetles, 1

rodents and moles in the soil. Which layer of the soil was the
farmer looking at?

(a) Bedrock (c) B-Horizon
(b) A- Horizon (d) C-Horizon
2 When you exhale in front of a small but clean mirror, it 1

becomes cloudy. What makes the mirror cloudy?
(a) Carbon dioxide in the exhaled air
(b) Nitrogen in the exhaled air
(c) Oxygen in the exhaled air
(d) Water vapours in the exhaled air

3 During hot summer days, most plants wilt during the noon 1
and recover in the evening. Which of the following
represents wilting of leaves in this situation?




(a) Rate of respiration increases

(b) Rate of absorption increases

(c) Rate of transpiration increases
(d) Rate of photosynthesis increases
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In the map given above, how much rainfall will the area

shaded with dots represent?

(a) Heavy rainfall
(b) Average rainfall

(c) No rainfall
(d) Scanty rainfall

In the picture given below forest roof is formed by branches
of many trees. This is called as

(b) Under storey

>

(c) Forest floor




In an area the water bodies are very contaminated. Which
disease is more likely to affect people of such area?

(a) Diabetes (c) Chicken-pox

(b) Cholera (d) Common cold

Q. No. 7-10 are the Case Study Based questions.
Look at the picture carefully and answer the questions that
follow

As embryo
20NN

¥ simple fruit

seedling germination

The female reproductive organ of a plant is known as
(a) Stamen
(b) Style
(c) Pistil
(d) Sepals

The male reproductive organ of a plant is known as
(a) Stamen
(b) Pistil
(c) Sepals
(d) Ovary

The process by which pollens are transferred from the male
part of a flower to the female part is known as

(a) Seed dispersal

(b) Pollination

(c) Germination

(d) Fertilization




10

The ovule and ovary of a flower are converted to and
after fertilization.
(a) fruit ; seed
(b) seed; fruit
(c) pollen; seed
(d) seed; pollen

SECTION-B

11

Rohit’s father bought home a sample of soil. He examined it
and found that the soil particles were large, light, well
aerated and dry. What type of soil is being examined by
Rohit?

12

When you feel your pulse, what you actually feel is blood
rushing through the

13

What kind of motion is represented by the movement of
moon around the earth?

14

Why total amount of water available on the earth remains
same?

15

Y and Z are two types of organism which are found in the
forests. Y eats up dead animals while Z breakdown the body
of the dead animals into simpler substances. What is the
general name of organism Z? Give one example of organism
L.

16

In the absence of trees which gas is likely to increase in our
atmosphere?

17

Why are forests called as ‘green lungs’ of the planet?

18

Onsite sewage disposal technology has led to construction of
toilets that do not require scavenging. Where is excreta
carried from these toilets?

19

If the government wants to keep the public places clean and
healthy, where should it build landfills for disposing of solid
waste?




20

‘One step Towards Cleanliness’ is a slogan given by the
Government of India under a mission that is based on proper
sewage disposal and providing toilets for everyone. What is
the name of that mission?

SECTION-C

21

A student does an activity to research which type of soil is
best for gram and rice plantation. She planted seedlings from
both plants in different soil types and took good care of all
plants for about a month. She recorded the development of
plants as shown in the table-

After 1 month

Rice / \ /

Gram

' 5 244
¥
Pt " <P

Sandy

Loamy Clayey

(a) Which soil type is best suited for the growth of rice
and gram?
(b) Which type of soil will allow water to percolate easily?

22

The table shows the activities performed by four students for
a period of 10 minutes.

STUDENT ACTIVITIES PERFORMED
A Reading
B Walking
C Jogging
D Running

The breathing rate of all these students was measured as
soon as they finished their activities.
(a) Which student will have the highest breathing rate?
Why?




(b) Which student can feel cramps in his leg muscles?
Why?

23

It is very difficult to hold a frog in hands because its skin is
moist and slippery. What could be the reason for the frog to
have moist and slippery skin? Which breathing organ frogs
have to breathe on land?

24

A teacher told students that seed dispersal in Xanthium takes
place by animals; however, seed dispersal in Maple trees
take place by air. What features of these plants make their
mode of seed dispersal different?

25

A student with his father plans to visit his grandmother
during a vacation. They used a motorcycle for the ride.
Before starting the trip, the student took a picture of the
odometer marked as initial in the image. After reaching his
grandmother’s home he took another picture of the
odometer marked as final.

016]4/8]3]5)

Initial Final

(a) What is the distance between the student and his
grandmother’s house?

(b) If they took 5 hours to reach the grandmother’s home,
what will be the average speed?

26

Draw distance-time graph for
(a) An object at a stationary position
(b) A vehicle moving at a uniform speed

27

Make a circuit diagram of an electric circuit having a cell,
bulb and open switch. Will the bulb glow in this condition?

28

The side mirror of a scooter got broken. The mechanic
replaced it with a plane mirror. Mention any inconvenience




that the driver of the scooter will face while using it. Which
type of mirror is actually used as a side mirror in vehicles?

29

Given below are three states of water in a beaker. These
states are inter-convertible. Name the process forward and
back forth labelled A, B, C, D, which cause these conversions.
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SECTION-D

30

The picture shows an unlabelled sketch of human excretory
system.

(a) Label the parts A, B, Cand D.

(b) Which organ helps in filtering the urine?

(c) In which organ urine is stored?

D

31

A student performed an experiment where he supplied the
same amount of electricity to two different bulbs, an
incandescent bulb and another CFL.




i

Incandescent CFL
Efficiency Efficiency
44 b4
Cost Cost
® ®®
Lifespan Lifespan
ee ©edd

(a) Which of the two bulbs is likely to appear brighter?
(b) Which of these bulbs is energy efficient?

(c) What is the full form of CFL?

(d) What alternative can be used now in place of CFL?

32 | One day, Ramesh and his friends were performing some 4
experiments given by their teacher. While sitting in the
practical lab instead of performing experiment, Ramesh was
playing with his transparent metre scale. All the sudden, he
held the scale in his hand and started moving in front of tube
light, and then he observed the seven colours of white light.
(a) Give the name of phenomenon that leads to the
formation of band of seven colours.
(b) Name the constituent colours of white light.
(c) In the formation of rainbow what acts as a prism?
(d) In which direction should a person face to see the
rainbow?
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General Instructions:

(i)  The question paper has 28 questions in all. All questions are compulsory.

(i)  Marks are indicated against each question.

(ili)  Questions from serial number 1 to 10 are Objective type questions. Each
guestion carries one mark.

(iv)  Questions from serial number 11 to 20 are Very Short Answer type
guestions. Each question carries one mark.

(v)  Questions from serial number 21 to 26 are Short Answer type Questions.
Each question carries 2 marks.

(vi) Question number 27 is a Long Answer type Question carrying 4 marks.

(vii) Question number 28 is a Map Question of 4 marks

(viii) One Internal choice question each has been provided in Short Answer and
Long Answer Type Question. You have to attempt only one of the
alternatives in all such questions.




A 3 PRg HET o ATa 8?2
&. IPEdT garEafa

. 39T eI GeagR ad

a1. g1 Feeafd

Moses and lichens are found in

a. Desertic vegetation

b. tropical evergreen forest
c. Tundra vegetation

Y °TH o HeTel shgl UTT ST 8 7?
. T80T 375hIhT

g. 3iTectorar

I . FEg v

Steppe grasslands are found in
a.S.Africa

b.Australia

c.Central Asia

ST &1 I8 TEAR S ggdTed Y |

Identify the picture given below

&. I3 YT
b.shlcg 3aT¢

1. HereT

a. Hot desert
b. Cold desert
c. Plain

A fre wad & faw yfdcu &




a:.:ﬂg
. HUrH
3T, FFHRT

Egypt is famous for growing
a. Wheat

b. Cotton

c. Maize

A fer 9T I S UgATl-
afsan
b.3elC T bR o ol&h
37, Solaeifeleh arredr HALfieT

The instrument given below is—
a. Radio

b. Electronic type writer

c. Electronic voting machine

The fastest means of communication is ----
a.Electronic mail

b.Television

c.Mobile

Teh glas - HSTdT &
. Gl A

g AlT A

d1. Sh UT

A Hawker sells in ----




a. Ina Shop
b.In a Mall
c.On the street

a1 AT H Wle-Tashr -
. I foshT

g. Reer

. SWRIFT H A FIS o8l

Buying and selling in large quantities is-
a.Whole sale

b.Retail

c.None of the above

I ATSART

Tawa Matsaya Sangh was a protest by—
a.The weavers

b. The cotton mill workers

c. The fisher men

10.

HASell ohsal oh I TUPR--------—- H fAsh & heRi &1 fgu atw
|

%$.1994

d.1894

dT. 2020

Fishing rights were given to private contractors in-----------
a.1994

b.1894

c.2020

11.

s Thgl Td A?
Where did the Gonds live?

12.

IS AR Feticen & FhT T 1 AH [TQT|

4




Name the Sufi saint of Ajmer and Karnataka.

13.

HeT G Y 3T AR o AT H Hglelt adre
arel 1 ST oY (F2Ueh /S Uhell)

were originally a caste of story tellers in
temples of North India (kathak/kathakali)

14.

ATfeT ATE o H HRT I 3haT fhar

(1748/1739)
Nadir Shah invaded India in (1748/1739)

15.

frE AgIEdTa A AT S8 eua g2

In which continent Amazon basin is located?

16.

A few 910 fAvere & YR T ugare Y

Identify the type of settlement given below

17.

TER AT T T FATeld &7
What is meant by censorship?

18.

AT M f3TT F FIS 8 aF 3eTEuT S

Give any two examples of mass media

19.

TSR # Tohet SlTaTt Sl STATGT ST fHelT
i.
ii.
People who gained in the market are
i.
ii.

20

R & 31 GHTTT & &F FHIOT FAT 872

What are the two reasons for inequality in India?

5




21.

TRV T TR shd ITTAToTd TR ST 24T ?

How was the administration Ahom’s state organised?

22.

farsrarastia & gt & StreeTry & AT @l AR et
SPITRIT T T ?

Why did the conquerors try to control the temple of Jagannatha
at Puri ?

23.

TR ST H3TAIT HT 3eold H |

Mention the uses of coniferous forest.

24.

IrEare 87 7 ey daEafa FAT E
37ar
TERT YT & 19T HRY 98T FAT UgTd 62

Why there is scanty vegetation in the desert region
OR
Why the people of Sahara desert wear heavy robes?

25.

37T T gfarar T s WEr &2

Why today’s world is shrinking

26.

EJYAT T hiced el Atfere T TR SITITRAT Y 4T ST

gsT

What made Swapna sell the cotton to the trader instead of
selling at the Kurnool cotton market?

27.

Rt T v fAeTTT 3T T2me <7 2

JIar
Arerayr, Riegh 3R Afaat hr [{ame 3R g2m3it 1 gt |
What were the major beliefs and practices of the Sufis?

OR

Describe the beliefs and practices of Nathpanthis , Siddhas and
Yogis

28.

(&) HRA o ATl fcdeh AT W fAFATAT& T 1 g2nsw

(A) On the political map of India mark and name

2+2=4

6




.. ST . Jodhpur ii.eedTg ii.Hyderabad
(@) il Wﬂa'ﬁa%ﬁg'ﬂ' (B) i. Draw and name river ganga
ERIREIC afraaﬁs??r ii. locate and name Allahabad
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General Instructions:

(i) The question paper has 28 questions in all. All questions are compulsory.

(ii)  Marks are indicated against each question.

(iii)  Questions from serial number 1 to 10 are Objective type questions. Each
guestion carries one mark.

(iv)  Questions from serial number 11 to 20 are Very Short Answer type
guestions. Each question carries one mark.

(v)  Questions from serial number 21 to 26 are Short Answer type Questions.
Each question carries 2 marks.

(vi) Question number 27 is a Long Answer type Question carrying 4 marks.

(vii) Question number 28 is a Map Question of 4 marks.

(viii) One Internal choice question each has been provided in Short Answer and
Long Answer Type Question. You have to attempt only one of the
alternatives in all such questions.

AT fAgar:

(i) 19T O & el 28 U ¢ | Tl 92t e &

(ii) TcAh T2T oh ATHA 37 [u aTT |

(iii) TR 1 F 10 ceh o T TEITASS FehR & 2T § | Tedeh T2 Ueh 3eh [ g |

(iv) ShHETSh 11 & 20 Teh oh 9T 31Tl ofF 3T FehX oh TR 8 | Fedeh UReT Ueh 37h o g

(v) TR 21 & 26 cTeh oh TRT o] ST YT & | Ycdeh UReT 2 37h &7 ¢

(vi) T T&IT 27 Teh &18 3aT UeT & To@H 4 37 & |

(vii) 92T TEAT 28 4 37h T ATATIT 9T & |

(viii) oTE] ST 3R Ve ST TRaA1 & F Tedeh H Teh AR Tdehod TReT fer 3T &
3TTeRT U0 T 9T H & haol Ueh Ao T JITH 1T ¢ |




O O T HeTeT T ST
(A)ETEToT 3T3hTeRT

(B)3fTEcTorT

(C)FreT uferar
(D)3 3 ART

Prairie grassland is found in
a) South Africa

b) Australia

c) Central Asia

d) North America

ﬁma?rafr?nfraﬂTmaw‘ra’lFﬁ%*?

Which of the forests receive hot and heavy rainfall?
a) Tropical evergreen forests

b) Tropical deciduous forests

c) Temperate evergreen forests

d) None of the above

fArATaf@d # & l-ar v oMarsoT ATET g2
A)HeRT

B) STITaIT

C)elcard

D)3=H & g &t =7gt

Which one of the following is a cold desert?
a) Sahara

b) Kalahari

c) Ladakh

(
(
(
(




d) None of the above

a fras v aficyd
(A

(B)FHFRT
(CyeRaTH
(D)3=T8 § IS 81 e

Egypt is famous for growing
a) Wheat

b) Maize

c) Cotton

d) None of the above

A RTaT AT H T2
(A)Erar

Which of the following are forms of media?
a) TV

b) Radio

c) Newspaper

d) All of the above

FSTT T 3T T FTT G i AT &?
INEEIRGH

Which is the main source of income of media?
a) Advertisements
b) Articles




c) General news
d) None of the above

HTCATigeh TR H GhleeN 8l &
(A)BIC SITITY

(B)SS SATIRT
(C)dTw
(D)W & T

Shopkeepers in a weekly market are
a) Small traders

b) Large traders

c) Wholesalers

d) All of the above

. Al 7 e g T ATATA [Shar 872
(A)STSS

CIEGIKIE

(C)TEar
(D)3=TH & g &t =TT

What types of items are sold in the malls?
a) Branded

b) Unbranded

c) Cheap

d) None of the above

FIe7-dr N AR F AT B GHTA ToATeT 27
(A)ersT

(B)feraT

(C)are
(D)g=T8 & IS 811 e

What makes people of India equal?
a) Religion




b) Sex
c) Vote
d) None of the above

10.

ITHATACT T JHG HROT FITE?
(A)IRYST

(B)&H

(§EIREICS
(D)3=T8 & IS 81 e

What is the major reason of inequality?
a) Poverty

b) Religion

c) Casteism

d) None of the above

11.

CRET AT o ERTeT Ui 3 it T STeTofI el gl TeTaeiel
Ar?

Which tribe was very influential in Punjab during thirteen
century?

12.

AT I ganiaa |

o)

Ramanuja was influenced by the

13.

ter T AT?

What was Chauth?

14.

I3 o761 T ThAT Uh TG o161 T ATH IS U |

Name any one tributary of river Ganga.

15.

AT HT3AT 7 3EI0T SIToTv |

Give example of mass media.

16.

TR T TRATT IS




Define communication.

17.

s fAaTdes ST 87

Who is an exporter?

18.

AT HET T 3 Aeg WS @I E?

What issue is the Tawa Matsya Sangh fighting for?

19.

TS Tt 57 g SelX & ardes | (FEY/ ITeld) |

Sawai Raja Jai Singh was the ruler of Indore. (True/False).

20

STT=ATY HfeX gl TAT 8?2

Where is Jagannath temple located?

21.

AT F STRTATY & AT Sl AT T hT AT FAT
TRar?

Why did conquerors try to control the temple of Jagannath?

22.

37T 3R TS & AdTET o STITRERT YT &l HTCT et Sl
O &1 fhar?

Why did the Nawabs of Awadh and Bengal try to do away with
the Jagardari system?

23.

3SUThTEEHIY GOTITCT U5 ¢5eh HIFH & 379 o FRISA B |
FRUTS|

The tropical deciduous trees shed their leaves in the dry
season. Give reasons.

24,

uTae] FATCT BT I & | PROTS |

The rainforests are depleting. Give reasons.

25.

TERT IRTEATST o 19T HRT 9T 41 UgaAd 67




Why do the people of Sahara Desert wear heavy robes?

26.

oIe fharet Y Fol T IS T & | Fa1?

Small farmers need to borrow money. Why?

27.

FR GIRT e T 1T T e &rm 27 3egiel 5o Y
e fehar?

What were the major ideas expressed by Kabir? How did he
express these?

28.

feg AT ) A fai@d &1 gdar oeme
A) arfieres
B) Rt S s
C)&u 3+t
D)as feeelr

Locate the following on world map
a) Washington
b) Rio De Janeiro
c) Cape Town
d) New Delhi
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SET 3
KENDRIYA VIDYALAYA SANGATHAN / =413 faeara Wers«

BENGALURU REGION /a’m{sm
SAMPLE QUESTION PAPER / gfaeel 92 99

TERM Il /A1 SESSION 2021-22 / |9 2021-22
Class: VIII / &e&m: VIII Max. Marks: 40 / 31fd# 31 40
Sub: Social Science / f[aw; aFIas A= Time: 1.5 hrs./EAT:1.5 €
AT

(i) % 9 ® pa 28 Uy &1 G wy e 7
(if) TP UY & A+ 3 T MU
(iii) SPHI® 1 | 10 9P P UY IS TPR S UY & | T UY U 3P BT gIaT ¢
%\%T?W 11 20 T & UY 3ffd 7Y ST UBR & UH § | TS UY TP 3P BT
I
(v) SFHI® 21 | 26 TP & UY Y STRIT UY & | TP UY 2 AP BT gar g
(vi) e T 27 T S S vy ford 4 siw 7
(vii) (vii) T TET 28 4 b} BT AT IS B
(viii) TY ST 3R S Iwta usl A A vl A v srialie fawew wy fear mn
21 MUt T 9t vl o I Had U fawey BT AR FRAT B
General Instructions:
Q) The question paper has 28 questions in all. All questions are compulsory.
(i) Marks are indicated against each question.
(iii))  Questions from serial number 1 to 10 are Objective type questions. Each question
carries one mark.
(iv) Questions from serial number 11 to 20 are Very Short Answer type questions. Each
guestion carries one mark.
(V) Questions from serial number 21 to 26 are Short Answer type Questions. Each
question carries 2 marks.
(vi) Question number 27 is a Long Answer type Question carrying 4 marks.
(vii)  Question number 28 is a Map Question of 4 marks
(viii)  One Internal choice question each has been provided in Short Answer and Long
Answer Type Question. You have to attempt only one of the alternatives in all such
guestions.




I < 7S TR P U &Y |

(@)  HURY gl

(@ aWfas

@) ATAHA qoT

(&) ST IS oAg

Identify the picture given below
(a) Coniferous Forest

(b) Rain forest

(c) Monsoon forest

(d) None of these

YHYRY 9 B! TP Ag@yul fhw g
() XM=

One important variety of coniferous forest is:
(a) Rosewood

(b) Pine

(c) Teak

(d) bamboo

3TBIpT & fop g I H TERT UG ©
(%) gdf




(9) gfayor

Sahara is located in which part of Africa
(a) eastern

(b) northern

(c) western

(d) southern

R U Y ARG Ao fhdor GRT a9 371 §
(%) SHTS 3R GHHM

(@) S8 AR g

() s 3R g

(9) shael feg

The Ladakh desert is mainly inhabited by
(a) Christians and Muslims

(b) Christians and Buddhists

(c) Buddhists and Muslims

(d) Hinduism only

A TR & 3raral Fufafad 7 3 g e @ 9mE Wi 96d o
(@) e

@) B

WS
() 513 | IS AT

We can purchase goods through which of the following means other
than markets:

(a) Internet

(b) Phone

(c) Both of these

(d) none of these

31f¥p A & -9y I 1 drad 82

(@) T dTIR

(@) AT
WKIED

(6) SoTH A s & &1




What does refer to buying and selling in large quantities?
(a) Weekly market

(b) Mall

(c) Wholesale

(d) None of them.

9§ 9 oH Hifea & U g2
() <l SN, TR U
(@) e, <ad

() JHR U7, haH

(¥ &9, ¢

Which of the following are forms of media?
(8) T.V, Radio, Newspaper

(b) Radio, table

(c) Newspaper, pen

(d) bus, train

Fafafea 7 9 o file dfsar g2
(@) JHER T

@) 1.4,

WIEER]

() §exe

Which one of the following is print media?
(a) Newspaper

(b) T.V.

(c) Radio

(d) Internet

HRd & <IN b1 T IHH 1T 82
() yH

@) TR ABE T

What makes people of India equal?
(a) Religion

(b) Sex

(c) Vote

(d) None of these

10.

TrTR® 3ifIeR fafaw & Smar




(&) 1962

(@) 1964

(1) 1960
(d) 1950

Civil right act came in

(a) 1962
(b) 1964
(c) 1960
(d) 1950
11. |
RIpRT ——— & SHfUgaT U
Shankara was an advocate of
12. | HaR gRT A [bT 7T A fdarR 1 iT?
What were the major ideas expressed by Kabir?
13. | FUYF & UHE WED DA U?
Who were the major patrons of Kathak?
14| 115 g Riz Rrdl & 209 T 41 (9 ATed)
Guru Gobind Singh was the tenth Guru of the Sikhs. (true/false)
15. | A Hifear 71 52
What is mass media?
16. TS T aTalT 18T el Urdl STl 82
Where is the one-horned rhinoceros found?
17. | o= o T ford TR Heaaqut YT fAuTdT 82
In what ways does the media play an important role in a
democracy?
18. Tao+e faRlY Xeg § ST T JHHd 52
What do you understand from the term Public protest
19. | Fafa®s 1 g2
Who is Exporter?
20 | 91 H& 4 Bt HivT 1 i
What was the demand of Tawa Matsya Sangh?
21. | Sl &1 3fae el o Sfagr ¥ food YR U 12
In what ways was the history of the Gonds different from that of the
Ahoms?
22. | faorarsfi 4 gt O STy o wieR &Y AR o &1 v & fhar?
Why did conquerors try to control the temple of Jagannatha at Puri?
23. | 3 HH T S RS ¢ o WR I B! Ifg RwmaR FR Fdt g2

Which are the two factors on which the growth of vegetation mostly




depends?

24.

Yqd & Iy af 0 garsy|

Mention any two merits of railways.

25.

TERT AT 3R TERT 7RI H 3R 913y |

Give difference between Ladakh desert and Sahara desert.

26.

I aTd FREM H B B ale Holgxl & B & gTaTd

3R I8 <t S aTelt Aoig] &1 qui Hiferd

Describe the conditions of employment as well as the wages of
workers in the garment exporting factory.

27.

STeT T AT 1 U TRIETE Ry di?

What were the major teachings of Baba Guru Nanak?

28.

YR & Jeliae AFRE IR Hgfefad o <xisul
(F) 3HaY

Locate the following on the political map of India.
a. Awadh
b. Bengal
c. Ganga river

d. Brahmaputra river
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Class : Vil Max.Marks : 40
Subject : Sanskrit Time :1%hrs
19 / Name AT :/Roll.No
fa9TT:/Section faqTg=:/Date
reqshes geareavH/ STHTS T/
Invigilator's Sign Mark %@d
g -
1. AT ST PIET UF A@e (41 TAYETHRT § gl oI ) |
2. 9 vAT: AfAarat: (Td vy sftvard 8) |

Afed | ATATALI AT AAGL: FATd| THhal:
e AR Aafd | Hieay 9 NI | STET: SATAY FHOMT T=gied | ToUY FHT:

T | ITSTRT: T T, ~q| FTAT:, FTART:, FlgeT:, TRUT:, a1, TAA: o
o . . o [N . .
TEHT: qATe| AR | T TURE qITeq | TET TCAT(07 o Safeq SEae FcdT THT1s

o [N anN
A EThcd HhT: YHI<( |

1.aﬁémmmﬁrﬁm%

) THISA ST 1x2=2
1. STRT: & g 1+q ?
2. STAT: FHITT F Toegied ?

M) quiaTRT STLd 1x1=1

1. % THET: Faeq?

) AT FEHq 1x2=2



1. “gHOTT” TAT FT fa9=r: ?
1. T4 T 2. AT

2. “FHAT" — TAHT T 1498 [ ?
1. qearfor 2. feparfeq

3. g+t

3. qurifa

2. for gegar wouTa: g fRear Rk ey 9gsT At =Ed

1x5=5

i Foe: &

i, forferrr s
I3 |

—

qe=T9<9l 22T

V. TE
FroT frsarer:, |HoT, ATfOraH |, qTeseganiel , JUH!
3. 5wy et aarfw Susy @tk ards arrra @aa- 1x4=4
h: ATV FT
Tt EGEDE qated




4. TYgFI St T8 Rt ety 17w - % 1x4=4
() FTForhT AL AT (THH, THT, TF:) %

(@) __ FUE: FIURANT Fated| (A7 %

(M ooy e |t (?r

1X3=3

6. AENYIATH AT=es qISAT IATHT AT ST Tor ferea|

T WTUT St id AT o FATeq T GEFTHT TSAHET Fid GITHT ATUT | ST
g ds:, o, Aiaers: Sfweramentefya agsata wrfeemEEeT Reawdr

FTAGEIH ATTHH| Hifcea=aH THATE S THGHTEA| TOTTH T Tfadrad
TAYTHH e srRq Ffrcamamsr awwgeaan: Tnme Frayffsq) @5 6a arfa s




4

ATETIOr fE=red dY AmeqeTs, TEEFTE, @daaH, sarfduers, Famamad s«

JeA G AT |
%) THIA SIAL-

1. SEFd HET Fid TATTAT ATIT ?

2. I ITAITaH &: ST ?

) quiaTead Id-

1. GEhaeT AT % THGH AT ?

1 X2=2

2X1=2

N

[enN
Y ST = |

e F&T AT | Vg
gttt e Q
F)THIST IALA- <</
1) ¥ S3= ? QF .
Z)Wq_vr'ﬁﬁ'mﬁ? - ;?

) QUi TR Id- v
1. A= FY T ? c‘)

1X2=2

2X1=2

8. T@Tfearia T sreger wafRwTo Foa
(T, FA, &, FET:, FEH )
1. ARG T FauT gl Thad 9T |

1X4=4

2. ATHATAT: TUH GEhaaTgd aqd |

3. SET: GAR 29T fasmaTet o+ ==fq |

4. Fferer /¥ #<fd)

CRRIEEHICRISDLE

1X3=3

1. FAH e 1.

2. AT ForEEeT 2




3. afae TIgaq 3.

10. BRI AATH FeaT I: foraa- 1X4=4
1. o= oo oEa 9§ oy R I CARCCIE
2. T 7 vt ey T ATIATSIH T = AR
3. T ARG T 7 TSgiHq T HERAT G
4, ATTYHT FHASHUTT TEUH IECUEEIGHEEE
1.
2.

Qu
| Q@&/
@2@

X
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=17 / Name AqHATSH:/Roll.No
famT:/Section faqTe=:/Date
terses geareH/ BIGIECH]
Invigilator's Sign Marks Obtained
e -
1. TATATH IO TAETh UF @i (i %’ﬂﬁ@ﬁl‘%‘r{) |
2. 9 wT: sfearat: (a3 wr s €) | GQI

1. STg=ag gfsaaT T ST ferad
FETe e uE: g e
TaaET ged Ry o e e &
MY | FHIT T A<l AT g
fremaaer @a: I8d: amHa:
AU | TOTOTT HITfee:

J&E{: UG- T gL &l i

. gravd feql fo=med ata: Efasm: gam
FATALAT: AZMAI TAUT FAATH ZLA |

FUTAHTAT: FTETST add | AT GIET Tod =ae

3) THIRA I 1x2=2

1. fe=rmer: wfeaq ?

2. GITTHT Tt o sehufa?

M) qUlETRE I 1x1=1
1. TRUT: FeAdhaear: &6 w2t ?

%) AT HE 1x2=2

1. 9f¥g: FE=meE: adqq - o= fFeawogs & 2
1. aqd 2. fa=rmer: 3. wHra:



2. “qiEoTH” — TIE 9IS A=ea o6 TLhH ?

1. TCATOTH

2. Gl

3. qAdTT

2. st gezaT AospuTa: et T R e o= areA @

L ‘i
i

N i/ \‘\1>/

Al ¥
rl‘ i ‘-““‘, ':"“‘f:";lgi,";g/', x‘b:' \ }f’

p )
= |
3 LAY ,I’
- W.,’

1x5=5

1x4=4

3. 5w Y AT garfa Sugsa Itk ardaria ararria =aa-

it

TaTd

q9q

CIKIF

ik
<l

C

973

oo

STAT:

EELIE

T=T




2

3

4

4. FrgFrq 3 72 ot Reremat® 7w - 1x4=4
(F) _____ TrereH AL AT (TR, T, )
(@) T FOREir At (Feare, ﬂcwa\
(@ ot geawior &feal (3, 4, Em?r)

() e FE_ | (3, q] 0, quQV

5. vt vt T foaa- 1X3=3
(BQ g, g )

1. FqH X ‘SP
2. UTHH X c ’Q:

3. s X

6. STENAfaaH ATose qIST IATAT TATATH ST ferea|

TEHRTARL-“GETHT o HH Fed(d: ATAAT| T TSET T TH F@H ATHLq1” qd:
FTSEHe: qT ATAT-ATEAT: HIGTHTAT: THITH F9aq| TAT: ATAT eaT qrerwraaq-aara e

qUgeh: HoTE: (fea| Sf el T TN FRSAT: |” TEIT T AierwdT 98 Teal Jodreed 7
9 g1 FdZIdTH|

%) THTed IAL- 1 X2=2
1. HferswmT: 9 R ?

2. FE T ASHAT: FGH AT ?




2X1=2

7. ST &7 qfScAT I AT STLor foraa|
T A T 9 Togrd 7 GIqATST T F AT |
T Fid T UF [McF (Fame aae-var= |

F)THIST SALA-
1) e, =3 Fq & wafa ?

2) FagaET 6 ?

g) AT Sa- <(</{\

1 X2=2

2X1=2

1. T o= FEg=Y T ? &g
&

8. X@TI=haTie qarfe e
)

1X4=4

(T, =T, F,
1. gt I |
2. graqaayd 3T i = |

[ NI N

3. T8 AFAT TSET dd1 TRISHTIIT |

4. ZITAT AT HIFAAT T9Tfa |

0.9 TIqET JSad-
1. IecATdT ENDKE 1.

1X3=3

2. AT FErIET 2.

3. giaer FRELRI 3.




10.FTFIATARL AT FedT I foraa- 1X4=4

1. o= oo a9 8 g9 R I CARCEIE
2. FIT: 7 oAt e T ATIATSIH T F AR
3. T ARG T 7 TSgiHq T HEHAT 9T
4. FTOAHT FHASHUTT [EIH [ESNUEFIGHELE
1.
2.
3.

' @3“
&
&
c.y“
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1" /Name AqHATSH:/Roll.No
far9mT:/Section e +:/Date
Adersen gearey/ BIGIECOH]
Invigilator's Sign Marks Obtained
Agem: -
1. TITATH ST A U st (9o % 3 ‘%@dw § & forfer )|
2. 9 TT: rarat: (7Y wor srfeemd §)) QQ/

1. =8 gfsaAT =T St feraa
UHEH  a U L A | Thal L AT | | AT AT TR Had: =

AAA | T T2 W:ﬁ%ﬂ%@|%ﬂ%ﬁ—“ﬁﬂ!@{%@ﬁ[w
AT 7 FAT?” | FE sif%rdqq—“q : gferor: /7 Avafea” | | =L Treror Igrior
JAET 3TEl AATAA |

&) TF T2 ST 1x2=2

1. THEAT A &

2. ThaT Wl T AT

M) ot TR I 1x1=1
1. qferT: FTAY & Taa?

T) WIS HR 1x2=2
1. SuR—=a=r AAae fohe ?
1.3 2.9 3. Hgdr

2. GAT:—Zca= A aas fo 2
131 2 aferor: 3. AT



LBTAT: 914
i, AT |
iii. =TT weATAT
iv. AT el
a
NI
V. 9T x‘%{
T[T soreTer=, Ta=rTerd, arefai | w3, gy
3. Ty fRemmrH e I qrIRTI TR I 1x4=4
T EBIER] TSI
EiEIE R RERIED
< TS foafa
qE 1R T e




4. snferfEaer a=aeer Rereamria Frgwed:3 = 1< F5a- 1x4=4
( 9, sETRERET:, =)

EHEEIRIE AT qaaT qgdr AT | oTd: |7 T8q
T=Eid | TEIT: T qAUT qlag: Tk |

5. v gt T fraa- 1X3=3
( STEAET,ETAT:, =amT:)
1. @@ X
2. 7T X

3. w X <<<3\

6. amwmmmwﬁl
%memmmﬁ?% S| ATUIH STAHTET AT STAAT
TAT| TTH AT A=A M= WTQT% T Hgea (a0 HeATTd i ATH- AT

Ty § T5hd Hehidea™T] \/
1 X2=2

F)THIST SALA- Q
1.3 ATHT ITH FATHTHATIT? @
2. FFT Hg<adud HATq %ﬁj&\

) QiR ILd- 2X1=2

1. HEFAET Hgeaiaud FA1d o6 FHiEaa?

SALH

EN

7 ANIGTH s Tfdear I T Saor foraa
& TTaa=aid |
A5 Ty wed feme

T fafoe = Teifa |

SgEaT = f{fig: Tefa



F)THe ITTLd- 1 X2=2
1)aT T Tog(d?

2)%F: TSI(d?

q)qeiaTRI Ia- 2X1=2
1.7 SATHT TSITd?

8. T@TewhaTie q=Ti Sireer TARwiv Foq 1X4=4

(%, FT,HY, F: )
1. Tferer HeT It |

2. Uy f=Eraae: =9 | %
3. IF: TY AL 81 | Q
4. FHEQ: TAT: 0T FATT | Q Q:

o arfarraf droraa- <(/

1X3=3
1. geoft ad 1.
R e 2@3
3. fafuw ST
10. &TRTLATAH AT Feal T - 1X4=4
1. o= oo a7 B o ST | AealSadT:
2. FT: 7 ot e T GTIATSIH = ALY
3. T ARG T T TAGEH T HEHAT g
4. FTUAHT AHAGHLUT TETH [ECIEFIGHEEE




